
[image: image1.png]% (

S SUTER A ash=(a+1)+b, 5 6A(304) i

4

P oM, PrORRIIL, 23%(6%8)

R adb 3 (a-2)xb, PIMIA=(3-1)x4=4, 4, %aAS=308f, a=

MEFER®: a@b=la-2: HxO(4ON=7, fix=

A IRPERGS O, WTFHMRRL:
204=8, 5®3=13, 3©5=11, 9"

5, RTI®3I=7




[image: image2.png]% (5) mar

1 EXHEH A adb=(a+1)+b, R6A(3M4) Ml

(2] EAER L HBEH

(W] FREARPLES, it HES, FOGREIE
384=(3+1)+4=1, Rk =6AI=(6+1)+1=7

_P+0

2 p.omEn Prornlil, w3y
(%) EAMEHEAREN
[0 z'(s-s)=3-(¥]=3~7=¥=5

3. mRasbiR(a-2)xb, Pim3A4=(3-2)x4=4, B4, %aa5=308f, a=__
(%8 s XAHE R R
URAT] KR, 18(a-2)x5=30, Ba=8
4 HMEFERS®: a®b=3a-2b: HxO(401)=7, Mx=
[55) SE SHHE R 2 RS
[RI7] EX401=3x4-2x1=10, FLlx®(481)=x@10=3x-20=7, #x=9
5. H-AMMFERHS S, WTFARAMRL:
20428, 503=13, 3@5=11, 907=25, R7@3=7
(%) EER2ZRAM
[RIT 1B 204 =8, 5@3=13, 3@5=11, 987 =25 /I HANNE, KIME:
a®b=2a+b,

7©3=2x7+3=17





